03-06-25 MDE 61

2.4 Inequalities with Absolute Value and Quadratic
Functions

2.4.1 Exercises
page 220: 1, 8,17, 34, 36

Exam 2
Thursday, 03/13/25 (changed from Wednesday)
1.6-1.7,2.1-2.4

*6.66‘y<2' x—6

Steps for Solving a Quadratic Inequality

1. Rewrite the inequality, if necessary, as a quadratic function f(z) on one side of the in-
equality and 0 on the other.

2. Find the zeros of f and place them on the number line with the number 0 above them.
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Steps for Solving a Quadratic Inequality

1. Rewrite the inequality, if necessary, as a quadratic function f(z) on one side of the in-
equality and O on the other.

2. Find the zeros of f and place them on the number line with the number 0 above them.
3. Choose a real number, called a test value, in each of the intervals determined in step 2.

4. Determine the sign of f(x) for each test value in step 3, and write that sign above the
corresponding interval.

5. Choose the intervals which correspond to the correct sign to solve the inequality.

Numeric test value method
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36. The height h in feet of a model rocket above the ground ¢ seconds after lift-off is given by
h(t) = —5t% + 100¢, for 0 < ¢t < 20. When is the rocket at least 250 feet off the ground?
Round your answer to two decimal places.
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10-5*sqrt(2)=2.928932188134524
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10+5*sqrt(2)=17.07106781186548  ~ 3 0}
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The rocket is at least 250 feet above the ground between
2.93 seconds and 17.07 seconds after lift-off.

After class notes

2.4: 36 use calculator only to produced numerical estimate.
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£3(x)=5- x2+100- x-250

2evd

(2.93,5.82e-11) / J

i, (17.1,0)

-300

The rocket is at least 250 feet above the ground

between 2.93 seconds and 17.1 seconds after lift-
off.
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